(®)
@)
)
le L
c v ‘5 .
© )
O C n
— O 175 _—
-) =
[e) = = ©
n \.ﬁ ~ D < =
] hd e d — -
o - o 1 7 p £
o W/ - — —
Y e -~ O o
= | 2 5 N - D)
. ¢ \\.u < < uw ¢
= = P |
Z 8 » ) . LI
@) O — \ N Q
= o 2 |- N o o [
< 5 & S0 - s
X % SR e S
mu io) ale ®© ®© D
—-l— W Ab -C ”Mu _V G ul
M“ O _ s M © | O an =X
@) re) e — g—= — &
(C ) AA m.\lu L /.rf
e k%) m 2¢c v IR F. AN
e = ws gl o 5T
Y -— —_— ®© > N~— Q
) \ —— A~ M
= O X 92 o » 1
O = = NN
EAREEE S0
—~ ) S >
= o C @ L
X & ;& -~
S QO 5 c
! ! { -
= e Q= -
Y ~ H > e liFaN
il
=
D
1




Qr

Cl
Ul

N

7 =

S
JU VI

—

a0n
A

N-N5HK

V.U

<

wm

’f'

>‘

r

Y VO m UL SolluFion

a reasonable volume

too larae for lab-scale
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at if we used 6.00
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do you need to measure out?
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